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AP Calculus AB 4-1, 4-2. 4-6 Quiz Review WS #2

Calculators permitted.
1. Find the sum:

P ¢ | 3 2 3
Z[(i F1)2+3(2i— 1)%] = (2+)* 349 F* (3e1)+ 3@(3)-') + () +3(am-1)
i=2 9 +3@9 + 16 +3(125)+ a5+(343)(3) -_-
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2. Use Sigma notation to write the sum: 1 2 9 16

3. Use 3 left rectangles to approximate the area of the region bounded by
j(x) = 1+ 2x2, the x-axis, x =3, and x = 7

wak2, 23 1 | frax of(z)+ 5 £(%)+ £4('%)
4
I %(I?)* 3(36’.55)“3-(65.2:1) ~ 163.6%/
3y % %
4. Use the table of values on the right to estimate X 2 148 6 8 12 14

e |1 |2 |8 |3 |1 |6 |5

Use 2 trapezoids with interval indicated

Use 3 left-handed rectangles with c.
by the table to estimate area between the

a. Use 2 middle rectangles with intervals | b.
intervals indicated by the table to

indicated by the table to estimate the

ea be the curve and x-axis on stimate area between the curve curve x-axis on [6,
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3(2)+ 5(1) : 4()+¢(g)+ 20) :@ §[>‘r+a]+ %[HSJ
$y=3eal ¥ 13003+ 1(8) =(33]

5. Given the region bounded by’g(x) =3+ 2x2 the x-axis, x = -2, and x = 1. Use the limit definition to
find the exact area of the region ‘
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Find the general antiderivative of g(x). (Find _f g(x)dx)
35inX + Scos X-CSCX - «Qxy/z-f C
6.9(x) = 3cosx — 5sinx + cscx cotx — 3vx

/. —
J3Q>s>< s ‘Ssz‘nx-f- cscX cotx ~ 3x 2 OBX

3esind) =5 (eonn) - esex - 3(2 )+<-,

1

2
7.9(x) = = —3x*— 3=
3(Vx) 3e* sx‘l/s__ x°- l L,X+C’,

Q&) = J x /5. 3y
s x3

o 34'(1(%)‘3*5 y

8. g(x) = 2x3—5\/—+ 3("(/—) % | .
’ 3 A Six 5x +3x JX %"3”@“ I "
j(x):(lx 5x + 3x )x 2 / s

- X _ 5/x" N I S
j&)=2xz- 5% 2+3>< 3 (/L +3(ZJ7‘C

9. Find the general expression of f(x) if /"(x) = 3x + 5x2— x+5

5
WC/(X :J3x3+5xix+5JX #l)= 1 {5‘)1 %(’g)-é(x; Y 5121 Cx+K
2
£1x)= 3 + 5% XSt 1= 2. 2, g
= )( - ZX+ E‘X + Cx+ IC
)() SLP( 53—'X+§X+C-AX{

\
10. Find the speclﬁc expression of f(x)if  f'(x)=5x*+9x—4, f(0)=7

'F(y):J‘szﬁ‘?x-Hcix [ c=7

—

£(x)= _+_~Lh<+c ﬁuix ‘{x+j
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Integral Formulas:

Power Rule:

un+1
I utdu = + 0
n+1

Trig Integrals:

[sinudu=—cosu+C
[sec?udu=tanu+C

[csc?udu=—cotu+C

_nn+1) g Z nz(n +1)?

Area using Limit Definition
lim Z(w:dth) f(left endpoint + width * i)

n-—00

. b—-a
width =—
n

Trapezoid Area:

Area = sw(hy + h2)

[cosudu=sinu+C
[secutanudu =secu+C

[escucotudu=—cscu+C




